Lec. 19-e-Higher derivatives & Taylor's Theorem Wednesday, July 24, 2024 12:26 PM
f & C°([a,6]) assume f'(x) exist on all XE(a,6)
then we get a function $x \longrightarrow f'(x)$
It this function diff. at Xo we say that fis "fwice diffrentiable" at Xo
Defin: $f^{(n+1)}(x) := (f^{(n)})'(x)$ $= f^{(2)}(x)$
we saw "sorta" f & CK (IG, E)
if $f^{(i)}(x)$ exists $f = (a,b) \in all \ o \in j \leq k$ $f^{(i)}(x) := f(x)$
Defo! $C^{\infty}([a,b]) := \bigcap_{k \geqslant 0} C^{k}([a,b])$
f ∈ C° (Ia, b]) called <u>Amooth</u>
$f \in C^{\infty}(Ta,bT)$. $M_{n}(f) := Sip_{alxeb}(f^{(n)})$
Theoren: let ft ([Ia, b])
addume $\exists m = m(f) > 0$ S.t. $\forall n \in N $
$\frac{M_n(f)}{n!} \leq m(f)$
next, let a La < B < b
then a sequence of polynamial Pn(F)(x) for X & Id, B] S.t.
$d_{\infty}\left(P_{n}(f),f\right):=S_{UP}\left P_{n}(f)_{(x)}-f_{(x)}\right \longrightarrow 0$ $d\leq x\leq B$
$a \leq x \leq B$ $a \leq x \leq B$
Proof let nt N. Define for each n
$P_{n}(f)(x):=\sum_{m=0}^{\infty}\frac{f^{(m)}(a)}{m!}(x-a)^{m}$
The nth order Taylor polynamial of I with centra d'
$\overline{\mathcal{I}}_{n}(f)(x) := f(x) - \left\{ P_{n}(f)(x) + f(z) - P_{n}(z) \right\} $
$ \underline{\nabla}_{n}(f)(x) := f(x) - \left\{ P_{n-1}(f)(x) + f(e) - P_{n-1}(e) + f(e) - Q_{n-1}(e) +$
Cheek Mus one out
Observe: $g_n(x) = 0$ for all $0 \le j \le n-1$ $M_*V_*T_*$
$ \begin{array}{cccccccccccccccccccccccccccccccccccc$
$\Rightarrow \exists x, \ell(\alpha, \beta) (x_1) = 0$ Since $\overline{\Phi}_n'(\alpha) = 0 \Rightarrow \exists x_2 \ell(\alpha, x_1) (x_2) = 0$
Shee $\overline{\Phi}''(\lambda)=0$ $\Rightarrow \exists X_3 \in (X,X_2) (W) \overline{\Phi}''(X_3)=0$
Thates of
If $X_{n-1} \neq (X_1, X_{n-2})$ $X_{n-1} = 0$ $X_{n-1} \neq (X_{n-1}) = 0$ $X_{n-1} \neq (X_{n-1}) = 0$ $X_{n-1} \neq (X_{n-1}) = 0$
$\Rightarrow \exists x_n + (x_1, x_{n-1}) _{\mathcal{S}_{t_n}} \overline{p}_n(x_n) = 0$
is envivalent the dervative vanishes.
after unwinding
$= \int (B) = P(B) + \frac{f(n)(x_n)}{n!}(B-x)$
SU $\forall x \in [d, g] \exists x, n \in (d, x)$ $\Rightarrow \forall x \in [d, g] \exists x, n \in (d, x)$
$\Rightarrow \Rightarrow \Rightarrow f(x) = P_{n-1}(f)(x) + \frac{f(n)}{n!}(x - x)^n$
Hence $\left f(x) - P_{n-1}(f)(x) \right \leq \frac{Mn(f)}{n!} \left x - x \right ^n \leq M \cdot \left x - x \right ^n$
$\frac{1}{2}$ M_{α} R_{α} M_{α}
$ \mathcal{A} \mathcal{B} - \mathcal{A} \leq \frac{1}{2}$ $\leq \frac{M}{2^n} \longrightarrow 0$
$\left \left(f(x) - P_n(f)(x) \right) \right \leq \frac{M}{2^{n+1}} \longrightarrow 0$ as $n \uparrow + \infty$
a nistern polynomial function ostensibly We know the derivatives a & f(m) Then we can replace with f(x) - f(f)(x)
Then we can replace with 1 - from
Taylor & Theorem with remainder.
Cominy Soon to a lecture near you of
Consider abs
there is no derivative on the inflection point we can make it jagged
Mandand but even then there is no Smoothness.
But we will find that smoothness se not required for approximation. Bernstein-vierstaus